Multiplicacion por Celosia (E)

Use la multiplicacion por celosia para hallar cada producto.

8 0 6 3 1 8 8 3
1 6
7 0
9 3
2 0
8 4
8063 x 17928 = 1883 x 60304 =
30 8 9 2 7 0 1
4 9
4 4
5 0
6 3
6 7
3089 x 44566 = 2701 x 94037 =
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Multiplicacion por Celosia (E) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

8 0 6 3 1 8 8 3

0 0 0 0 1 0 4 4 1 6
1 8 0 6 3 1 6 8 8 8

5 0 4 2 7 0 0 0 0 0
4 6 0 2 1 1 0 0 0 0

7 0 5 2 9 0 2 2 0 3
4 2 0 4 7 3 3 4 4 9

1 0 1 0 ) 0 0 0 0 0
5 6 0 2 6 5 0 0 0 0

6 0 4 2 8 0 3 3 1 4
5 4 0 8 4 5 4 2 2 2

3 4 6 4 2 4 3 2

8063 x 17928 = 144,553,464 1883 x 60304 = 113,552,432
3 0 8 9 2 7 0 1

L0 13 13 /) 4 I T6 /10 /10 A o
1 2 0 2 6 2 8 3 0 9

1 0 3 3 4 0 2 0 0 4
3 2 0 2 6 5 8 8 0 4

1 0 4 4 5 0 0 0 0 0
7 5 0 0 5 3 0 0 0 0

] 0 4 5 6 0 2 0 0 3
6 8 0 8 4 9 6 ] 0 3

] 0 4 5 6 ] 4 0 0 7
6 8 0 8 4 9 4 9 0 7

4 3 7 4 3 9 3 7

3089 x 44566 = 137,664,374 2701 x 94037 = 253,993,937
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